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 1 (Andalucía  2001).-  
 a)  2 KMnO4 + 5 H2O2 + 3 H2SO4 → 5 O2 + 2 MnSO4 + K2SO4 + 8 H2O 

b)  V = 25’8 L 
 
2 (Aragón 2001).-  
 a) Falso. 

b) Verdadero. 
c) Falso. 

 
3 (Aragón 2001).-  
 a)  Cr2O7

2 –  + 14 H+  → 2  Cr3+ + 3 Cl2  +  7 H2O 
b)  V  =  0’192 L. 

 
4 (Cantabria 2001).-  
 a)  2 H2SO4  +  2 KBr  →  SO2  +  Br2  +  K2SO4  +  2 H2O 

b)   x  =  1’21 g de KBr 
 
5 (Castilla-La Mancha 2001).-  
 a)  8 HNO3  +  PbS  →  PbSO4  +  8 NO2  +  4 H2O 

b)  V  =  6’7 L. 
 
6 (Cataluña 2001).-   
 a)   8 HNO3  +  3 Cu  →   3 Cu(NO3)2 + 2 NO  +  4 H2O 

b)  V = 105 mL  de HNO3  2 M. 
 
7 (País Vasco 2001).-  
 KClO3  +  6 FeCl2  +  6 HCl  →  6 FeCl3  +  KCl  +  3 H2O  
 La especie oxidante es el KClO3 .  La reductora, el ión Fe2+.  
 
 
 


